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Question 1

Question Type: MultipleChoice

A client's data consists of three data streams as follows:

Data Stream A:

Dy Madua Buy Key l:mpur Ky Site Ney Site Name R e rus
01-Apr-20 MEBK_1 cx_1 SK_C_1 SN_C1 g
01-Apr-20 WBK_2 cn_2 SK_C_2 M C_2 $ 5
01-Apr-200  MBK S CX_5 SK C 2 SM C 2 $ 7
Data Stream B:

Dy Campaign My Campaign Name  Creative Kay Chicks Media Cost
01-Apsr-20 K 1 CN B 1 CRATE_B_1 10 & 2
01-Apr-20 K_2 CN_B_2 CRTE_B_2 20 5 3
Data Stream C:

Dy Media Buy Key Campaign Key Site Mey Site Name Revenue
01-Apr-20 MEK_1 X _1 SK C 1 SN C 1 g

01 -Apr-20 MBK_2 cK_2 SK_C_2 SN C 2 s 5
01-Apr-20 MEK_5 CK_& $K_C_2 N C 2 5 7

* The data streams should be linked together through a parent-child relationship.
* Out of the three data streams, Data Stream C is considered the source of truth for both the dimensions and measurements.

How should the "Override Media Buy Hierarchies" checkbox be set in order to meet the client's requirements?



Options:

A- It should be checked in Data Stream C
B- It should not be checked in any of the three Data Streams.
C- It should be checked in Data Stream B

D- It should be checked in Data Stream A

Answer:

A

Question 2

Question Type: MultipleChoice

A client's data consists of three data streams as follows:



Data Stream A

Dary Media Buy Key Media Buy Name Campaign Key  Impresshons Hewe rnue
01-Apr-20 MEK_1 MBN_A_1 CKk_3 100 & 1
01-Apr-20 WEK_2 MBN_A_2 CK_4 200 % 2
Data Stream E:

Dy Campaign Kay  Campaign Name  Creative Koy Clicks Media Cost
01-Apr-20 cK_1 CN_B_1 CATE_B_1 10 % 2
01-Apr-20 cK_2 CH_B_2 CATK_B_2 0 s 3
Data Stream C:

Day Media Buy Key Campaign Key Site Key Site Name Rewe nue
01-Apr-20 MBEK_1 cx_1 Sk C1 SN C1 $ 4
01-Apr-20 MBK_2 ox_2 5K_C_2 SN_C_2 5 5
01-Apr-20 MBEK_S K 5 SK_C2 SN C 2 L 7

* The data streams should be linked together through a parent-child relationship.

* Qut of the three data streams, Data Stream C is considered the source of truth for both the dimensions and measurements.

Which data stream should be set as a parent?

Options:

A- Data Stream A
B- Data Stream C
C- Any of the data streams can technically be the parent

D- Data Stream B



Answer:

Question 3

Question Type: MultipleChoice

A client's data consists of three data streams as follows:

Data Stream A:

Dala Stream A,

[ Media Buy ey Media Buy Name  Campaign Key  Impressiond R v A
01-Apr-20 MEE_1 MBM_A_1 CK_3 100 % |
01-Apr-20 MEK_2 MBN_A_2 cKd 00 5 2
Data Stream B:

Dary Campalgn Kay :-np? Name  Creative Key Clhicks Media Cost
01-Apr-20 K 1 CN_B 1 CRTE_B 1 10 5 2
01-Apr-20 cK 2 CN B 2 CATE B 2 20 5 3
Data Stream C:

Day Media Buy Key  Campaign Key Site Key Site Name Rewe nue
01-Apr-20 MBE_1 Cx_1 5K C1 SN C 1 -3 4
01-Apr-20 MBK 2 ox_2 5K C2 SN C2 - 5
01-Apr-20 MEK 5 CK S 5K C 2 SN C 2 5 7

* The data streams should be linked together through a parent-child relationship.



* Out of the three data streams, Data Stream C is considered the source of truth for both the dimensions and measurements.
* Data Stream C was set as a 'Parent’, and the 'Override Media Buy Hierarchy' checkbox is checked

What should the Data Updates Permissions be set to for Data Stream B?

Options:

A- There is no difference, all permissions will have a similar effect given the scenario.
B- Update Attributes and Hierarchies
C- Update Attributes

D- Inherit Attributes and Hierarchies

Answer:

A

Question 4

Question Type: MultipleChoice

A client's data consists of three data streams as follows:



Data Stream A:

Day Media Buy Key  Media Buy Name Campaign Key  Impressions Rerve nue
01-Apr-20 MBK_1 MBN_A_1 cK_3 100 S 1
01-Apr-20 MEK 2 MBN A 7 Ck 4 200 % s
Data Stream E:

Dy C.w? My [.np? Name  Crestive Key Chicks Media Cost
01-Apr-20 CE_1 CN_B_1 CRTE_B_1 10 5 2
01-Apr-20 CE_2 CN_B_2 CRTE_B_2 20 5 3
Data Stream C:

Day Media Buy Key  Campaign Key Site Key Site Name Reve nue
01-Apr-20 MEK_1 cx_1 5K C1 SN C 1 $ -
01-Apr-20 MEK_2 cK_2 SK_C_2 SN _C 2 s 5
01-Apr-20 MBK_S CK_S $K_C_2 SN C2 s 7

* The data streams should be linked together through a parent-child relationship.
* Out of the three data streams, Data Stream C is considered the source of truth for both the dimensions and measurements.

Assuming the data was ingested properly and the Parent Child was created correctly according to the client's requirements, what is the

total

Impressions value for Campaign Key 'CK_3'?

Options:

A- N-A



B- 100
C- 300
D- 150

Answer:

B

Question 5

Question Type: MultipleChoice

Your client has provided sample files of their data from the following data sources:

Google Campaign Manager

_hd media_buy_name

media_buy_id  Site_jd site_name campaign_id campaign_name clicks impressions cost
0/02/2020 Mame A 517773 3114 Sitel 726 QWE_bhw_wid_guaran_uk 2 551 10|
0f02/2020 Name B 514257 3115 Sited 76 QWE_bhv_vid_guaran_uk 1) 955 26|
0/02/2020 Name C 853853 3115 Sited 882 QWE_bhw_dis_guaran_IT o 558 15
0/02/2020 Name D 514254 3116 Sited 726 OWE_bhw wid_guaran_uk 1 10497 30|

Google DV360

_id media_buy_name media_buy id  Site_id site_name campaign_id  campalgn_name Video views fully played cost
0/02/2020 Name A 17854 3114 Sitel /b QWE_bhw_wid_guaran_uk 102 11 1
0/02/2020 Name B 77654 3115 Sited 716 QWE_bhw_wid_guaran_uk 118 162 75
20/02/2020 Name C 71530 3114 Sirel 234 QWE_ret_disp_guaran_BR 156 40 5
0/02/2020 Name B TESTR 1118 Sitel 728 OWE_bhw_vid_guaran_uk 168 2 £




Below are the requirements from the client and additional information:
* The sources are linked to each other by shared Media Buy names.

* In addition to the mutual Media Buys, the sources contain campaign and site values. However, the client would like to see the
campaign/site values coming from Google CM and not from Google DV360.

* The source of truth for cost is Google DV360

Which action(s) are needed to take place in order to meet the client's requirement and set Google DV360 as the source of truth for Cost?

Options:

A- Unmap 'Cost' in Google DV360
B- Set 'Inherit Attributes and Hierarchies' as the Data updates Permissions for Google DV360
C- Set Update Attributes and Hierarchies' as the Data updates Permissions for Google DV360

D- Unmap 'Cost' in Google Campaign Manager

Answer:

Question 6




Question Type: MultipleChoice

An implementation engineer has been provided with 4 different source files: 03m 16s
1. Twitter Ads

2. Creative Classification

3. Placement Classification

4, Campaign Category Classification

The main source is Twitter Ads (which includes various fields and KPIs), and the rest are classification files that connect to Twitter Ads
and enrich different fields within it.

The connections between the files are described as follows:
1st Party Creative Classification

File structure/headers:

Creative ID 1st Party Creative Image 1st Party Creative Group

Creative ID --- links back to Creative Key (Twitter Ads)

1st Party Placement Classification &



File structure/headers:

Placement ID

1st Party Placement Group

Category --- links back to Campaign Category (Twitter Ads)

Which proposed solution meets the client's requirements for the above use case?

A)




1st Party Placement Group

Media Buy \/
Key

ﬁ:ﬁ" /\ Creative
D
Twitter Ads Viool

(Ads) \/

15t Party Creative Image
and

»

o

151 Party Creative Group

1st Party Placement
Classification
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1st Party Creative
Classification
(Ads)

B)



C)

Twitter Ads
(Ads)

Levels: Category Type

Custom Classification 3

Key: Creative ID

Levels: 1st Party Crealive

R —

. Image, 1st Party Creative
Group

1st Party Placement
(Ads)

Campaign Category
Classification
(Generic)

1st Party Creative
Classification
(Ads)



D)

15t Party Placement Group

Placamant
] 1st
P Twitter Ads
) Media Buy
Ky

15t Party Crealive

Party
Classification

Placement
Ads)



Caleging Campaign Category
T Ve e Q] e
Categary
Coata
Fusion
15t Party Placement
Craalve Piscament 10 {Ads)
Ky
Craatsg
Dala™. 1D 15t Party Creative
Fusion iAds)
Options:
A- Option A
B- Option B
C- Option C
D- Option D
Answer:




Question 7

Question Type: MultipleChoice

Which two statements are correct regarding LiteConnect?

Options:

A- It does not require any identification of entities, keys or any other categorization.
B- The dataset does not conform to the standard data model
C- All of the dimensions mapped within a LiteConnect data stream are considered overarching entities.

D- Data coming from LiteConnect cannot be harmonized with the rest of the workspace data via the harmonization center at a later step.

Answer:

B, D

Question 8

Question Type: MultipleChoice




Which three statements describe Overarching Entities? 03m 23s

Options:

A- Once the data streams in which Custom Classification values were mapped are deleted, their data is deleted.

B- Some overarching entities hold a Many-to-Many relationship with the main entity, and others hold a One-to-Many relationship with it.
C- When needed, these entities can act as a main entity, replacing the original one.

D- These are mappable dimensions that are present in each and every dataset type

E- The values of these entities are stored at the workspace level, rather than the data stream level

Answer:

B,C, E

Question 9

Question Type: MultipleChoice

An implementation engineer has been provided with 4 different source files: 03m 48s

1. Twitter Ads ~



2. Creative Classification
3. Placement Classification
4, Campaign Category Classification

The main source is Twitter Ads (which includes various fields and KPIs), and the rest are classification files that connect to Twitter Ads
and enrich different fields within it.

The connections between the files are described as follows:
1st Party Creative Classification

File structure/headers:

Creative ID 1st Party Creative Image 1st Party Creative Group

Creative ID --- links back to Creative Key (Twitter Ads)
1st Party Placement Classification by

File structure/headers:

Placement ID 1st Party Placement Group




A)

B)

Placement
1st Party

Campaign Category

1st Party Creative




C)

D)

Twitter Ads
(Ads)

Twitter Ads
(Ads)

il Category
Category " Data |
Media Buy -~

Key i:}ata" . Placement ID
“Fusion
TErLS LA L r

Key Data\ Placement ID
“E""O!!
Creative

@ o
Fumn |
Creative——
ID

Campaign Category
Classification
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1st Party Placement
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1st Party Placement
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1st Party Creative
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Parent—

3
&

Options:

1st Party Placement
Classification
(Ads)

Twitter Ads “Data
(Ads) Campaign - Fusion
Category

1st Party Creative
Classification
(Ads)

Category

Campaign Category
Classification
(Generic)

A- Option A
B- Option B
C- Option C



D- Option D

Answer:
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